EEC 180A (Prot. v.G. Okiobdaija) Quiz -1 Spring 2000

(Your Name: -~ .. L ]
Problem #1:
Write decimal number 38in:
{2.) binary: 100110
{b.) hexadecimal;

(c.) octal:

Problem #2:

Given are the light bulb, two double-throw switches and power source,
Finish the wiring so that you can turn the light of{ ilnd \o’n at both end of the stairs:
©
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Problem #3;

When is the light ON in the circuit shown ? Note when a=1 (closed) a=0 (open .
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EEC 180A (Prot. v.G. Oklobdzija) Quiz -1 Spring 2000
Your Name: . . on .. l

Problem #1:
Write decimal number 38 in; Ieyabaal 32

i< g

pe ! @)binary: ~ gojv Nz

. (b.)hexadgcimal:

=3 (c.) octal:

Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can tumn the light off and on at both end of the stairs:
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Problem #3:

When is the light ON in the circuit shown ? Nots when a=1 (closéd) a=0 (open).
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EEC 180A (pro. v.G. Oklobdzija) Quiz -1 Spring 2000

[Your Name: _;' o | ]

Problem #1:

Write decimal number 38 in:
(a.) binary;
(b.) hexadecimal:
{c.) octal:

Probilem #2:

Given are the light bulb, two double-throw switches and POWEr sOurce.
Finish the wiring so that you can turn the light off and \ojn at both end of the stairs:
Wo! '
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Problemn #3: _ —
When is the light ON in the circuit shown ? Note when a=1 (closéd) =0 (open). _QS
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EEC 180A (pro. V.G. Oklobdzijs) Quiz -1 Spring 2000

E’ourName:_‘;-i?i:-" ) j

Problem #1:

Write decimal number 38 in:
(a)binary: a0 10 DI
(b.) hexadecimal:

(c.) octal:

Problem #2;

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and ‘an at both end of the stairs:
\\o

- O
L:\ahk ac :2--0'*
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Problem #3:

When is the light ON in the circuit shown 7 Note when a=| (closed) 2=0 {open).
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EEC 180A (Prot. v.G. Oklobdzija) Quiz -1 : Spring 2000
Your Name:  _ T 1

Problem #1: . -

Write decimal number 38 in:

(a)binary: 10 O 1D

(b)hexadecimal: 24 , S
(c.)octal: 46
: ‘7
'*,6 Lz(— [
Problem #2:

Given are the hght bulb, two double-throw switches and power source,
Finish the wiring so that you can turn the light oﬂ' and \o,n at both end of the stairs:

ry

Problem #3:

When is the light ON in thc circuit shown ? Note when a=1 (closed) a=0 (open).
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EEC 180A (prof. V.G. Oklobdzija) Quiz -1 Spring 2000

Your Name: '~ = . . ]
Problem #1: 3y 1 o e e
1) 1 ! 2€ 2. &
. . .. ) -9 4 ! s
Write decimal number 38 in: 4 =2 O z °
: T c;
(@) binary: O] | OO | : 1 o
(b.yhexadecimal: 62 _ 34 6
: 4 o Y
(e)octal: £4Y
Problem #2;
Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and \ojn at both end of the stairs:
\o
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Quiz -1 Spring 2000 ‘
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EEC 180A (Prot. v.G. Okiobdzija)

[Your Name:

e XY
-

i B
-—i‘—‘!-&-\:)\o &o

Problem #1:
Write decimal number 38 in: IS ’

@binary: [ £ 11 O

(b hexadecimal: 24 (613! (38 14

(c.)ot%ta]:' ¢ o 9 '
) Cf':‘

Problem #2:

Given are the hght buib, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and \ojn at both end of the stairs:

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) a—O (o
0 N
a ,__o/° wjl.e vt = | and . fdc/ccm[
W’WMI a=1, birclosed

o.J g

—sjel:




EEC 180A (prot. v.G. OMobdzija) Quiz -1 Spring 2000

[Your Name: . ]

Problem #1:

Write decimal number 38 in; *. e Mogry 3:4n)
{a.) binary: toonto _9: oo ?_1 Iro 3 e ov
(b.}hexadecimal: 264 L v e

' & G ¢
{c)octal: 44
ks
Problem #2:

Given are the Jight bulb, two double-throw switches and power source.
Finish the wiring so that you can tum the light off and \ojn at both end of the stairs:
\\p ’

Problem #3:
When is the light ON in the circuit shown ? Note when a=1 (closéd) a=0 (open).
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EEC 180A (Prot. v.G. OKlobdzijs) Quiz -1 Spring 2000
YourName: .~ ]
Problem #1: .
- . ﬁz,c
Write decimal number 38 in: s 28
. pspllo
(a.) binary: ‘
(b.) hexadecimal: .:{. &
(c.) octal: 4—6
¢
Problem #2:

Given are the light bulb, two double-throw switches and power source.

Finish the wiring so that you can tum the light off and \o,n at both end of the stairs:
\\o

G teeds

2y

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closea) a=0 (open).
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EEC 180A (prof. v.G. Oldobdzija) . Quiz -1 Spring 2000

[Your Name: . i ;F

. A
an*"'g;: wﬂ..,ar P

Problem #1:
Write decimal number 38 in: i\
2 @bimary: | 0000 |
{7 () hexadecimal: \ ( \

!""‘

¥ (c)octal:

—— f -

\
IS}()

,‘-\

Problem #2:

Given are the light bulh, two double-throw switches and pgwcr source.
Finish the wiring so that u can tum the light oﬂ' and \an at both end of the stairs:

Problem #3:
When is the light ON in the circuit shown 7 Note when a=1 (closéd) 2=0 {open).
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EEC 180A (prot. v.G. OKlobdzija) Quiz -1 Spring 2000

[}' our Name: ,

Problem #1:
Write decimal number 38 in:

(a.) binary:

{c.) octal:

l;roblem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can tumn the light off and on at both end of the stairs:
W\eo

[7¢ ceecer

Iy

Problem #3:

When is the light ON in the ¢ircuit shown ? Note when a=1 (clased) =0 {open).
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EEC 180A (Prot. v.G. Oidobdzijz) Quiz -1 : Spring 2000

[Your Name: ,_ ' e ]
Problem #1: |

Write decimal number 38 in:

PR

binary: ooy
(a')[lpnzn)(lo |oot.ﬂ (32 F 4 +J-_2r- Iy
. hexadecimal: :
{b.) hexadecima 26 2t br =28
‘(c.)octal:
46 S &= 3¢
Problem #2: '

Given are the light bulb, two double-throw switches and power source.

Finish the wiring so that you can turn the light off and on at both end of the stairs:
W\o

f?( L e edrs

Yy

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) a=0 {open).

[& e f Ep ET Az
o | c “_
*‘hﬁ( .i’f-iffj!\[

I eb——o— Vo se on

+ - Ll.c,ﬂ-t e cau Se &7 ¢ log f"’{y |
: °r c I -
t)/jeﬁ_r \,{’1 ’ or ¥ <

Coreu




EEC 180A (prof. v.G. Oklobdzlfs) Quiz -1 Spring 2000

D{'ourName: T 7

Problem #1:
Write decimal number 38 in:
C@binary: 3~ 0% 5 e O
(b.)hcxadecimal:odlo O hd »» 2¢

(choctal: 48'+£8°% = 23 14n2a

=5 004¢
Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can tum the light off and on at both end of the stairs:
o
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Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closéd) a=0 {open).
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EEC 180A (Prot. v.G. Oklobdzija) Quiz -1 Spring 2000

[Your Name; - ]

Problem #l1:

Wnte decimal numbcr 38 in:

Jecimal nur o e
@y | oo\ T, -
@eclmaqu h *—-_--—-."_- . -—-—/-.-.2{2._4' ’é X
(c)octal: . & %?Mm___)

e

Problem #2:

Given are the lrght bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and \ojn at both end of the stairs:

Problem #3:

When is the light ON in thc circuit shown ? Note when a=1 (closéd) 2=0 (open). Never
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EEC 180A (prot. v.G. Oklobdzija) © Quiz -1 Spring 2000

Iﬁur Name: ' : ]

) 3%~ 32+ 4'\' 2 3 . f] -
Problem #1: ool alio 67167 16 b @
+ 3% & 0 2 ¢
Write decimal number 38 in:
{(a)binary: o1 oug @ < 8 'y
. O 0 4 ¢
(b.)hexadecimal: o024 o
(c)octal: 0o 4¢ m'
3%

Problem #2:

Given are the light bulb, two double-throw switches and power source,
Finish the wiring so that you can tum the li at both end of the stairs:

M7e tecer
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Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closéd) 3=0 (open).
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EEC 180A (Prot. v.G. OKklabdzija) Quiz -1 Spring 2000

@ur Name: _ ) 7 : ]

Problem #1;

Write decimal number 38 in:
(2.) binary: 58,
(b)hexadecimal: .93
(c.) octal: 583 |

Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the witing so that you can turn the light off and \0,11 at both end of the stairs;
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Problem #3:
When is the light ON in the circuit shown ? Note when a=1 (closéd) =0 (open).
b=0 '
& O/Bf—-h b Q _‘ ¢ _

T:-t' c™=
O &
c: 4

o — P

a- C
‘i -




Spring 2000

EEC 180A (Prot. v.G. Oklobdzija) Quiz -1
Your Name: "' 7. il
Problem #1:
Write decimal nucaber 38 in: i
(b.)hexadecimal: 32 f 4 = 2 6
(c.}octal: )44 = 4 6

Problem #2:

Given are the light bulb, two double-throw switches and power source,

and on at both end of the stairs:
ltoNV

Finish the wiring so that you can turn the light off
i

) o
| oft

| en

i, oA

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closé'iij 2=0 (open).
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EEC 180A (prot. v.G. Oklobdzija) Quiz -1 Spring 2000

Your Name: |~ | ]

Problem #1:

Write decimal number 38 in: _21:2)’87_
(a.) binary: ] 0!} O :

{b.) hexadecimal: 2 é
(¢.) octal: 4é . —

. cvlpo)0o
Problem #2: ""‘i LZ_‘! 'EE'QLEQ“

Given are the light bulb, two double-throw switches and power source,
Finish the wiring so that you can turn the light off and \o,n at both end of the stairs:
\

\\o
L_&a[k“c ac ._o_o—-
| - S rETET

{L(I

O p—

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closeéd) =0 {open).
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EEC 180A (Prot. v.G. Oklabdzija)

Quiz -1 Spring 2000

IXour Name:

J

Problem #1:

Write decimal number 38 in:
(a.) binary: fooil O
(b)hexadecimal:  0x 1§

(c.) octal: loo@ 0L

Problem #2;

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and \o,n at both end of the stairs:
\o

Problem #3;

When is the light ON in the circuit shown ? Note when a=1 (closed) a=0 {open).
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EEC 180A (prot. v.c. Oldobdzija) Quiz-1 . Spring 2000
[Vour Name; <. - (7 ]
Problem #1:
32 Q- - N
Write decimal number 38 in; 2% % o3 T 0 *

@bty 0 o 0 611 O

' (b.) hexadecimal: '_o O

(c.) octal:

Problem #2:

Given are the light bulb, two double-throw switches and power source, :
Finish the wiring so that you can turn the light off é\md {)’n at both end of the stairs:
\lo

(77 tecer

t&y!

Problem #3;

When is the light ON in the circuit shown ? Note when a=1 (closed) =0 {open).
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EEC 180A (prot. v.G. Olobdzija) Quiz -1 Spring 2000

[Your Name; s : ]

Problem #1: /2?” ’,2" f 2
Write decimal number 38 in; ;

(a) binary: [ Ot [ O OC),/} OO"J'()

(b.) hexadecimal: 2 £,

(c.) octal: Lr 6
Probiem #2:

Given are the hght bulb, two double-throw.switches and power source.

Finish the wiring so that you can tum the light off and \ojn at both end of the stairs:
\lo

[Fé tceer

Ty

Problem #3:

When is thc light ON in the circuit shown ? Note when a=1 (closed) 2=0 {open).
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EEC 180A (Prot. v.G. Oklobdzija) . Quiz-1 Spring 2000

Bour Name; ) . Il

Problem #1:

Write decimal number 38 in:
{(a.) binary: lco |lD
(b.)hexadecimal: v o e

{c.) octal: i

Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can tum the light off and \o’n at both end of the stairs:
\

\\o
@ .
"/-O

el

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) =0 (open).
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EEC 180A (rrot. v.G. Oklobdzija) Quiz -1 Spring 2000

]YourName: ' ' - F

Problem #1:

Write decimal number 38 in:

(a..)binary: IOOHO

(b) hexadecimal:

[N
]

{c.) octal:

Problem #2:

Given are the light bulb, two double-throw switches and power source,
Finish the wiring so that you can turn the light off and on at both end of the stairs:

\p
Ll\abk qc—\'o O—
~0
[z cceer
ry .

Problem #3:

When is the light ON in the circuit shown ? Note when a~1 (closcd) =0 (Opcn)

?:\t\ t \-:




Problem #1:

EEC 180A (Prot. v.G. Oklobdzijs) Quiz -1 « . Spring 2000
[Your Name: & ... |
3F
R g2 w22y

Write decimal number 38 in; P i ?

-9
2 (a)binary: tpgong R it 30

3 '1!;’ ! &b

It (b.yhexadecimal: 2b P Y

% (c.)octal: 4

Problem #2:

Given are the llght bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and \cjn at both end of the stairs:

Problem #3:

[77 teecers
y; !

When is the light ON in the circuit shown 7 Note when a=1 (closcd) =0 {open).

a r—"°/°

o
L

—

TL;(A' he villoee, oy,
L‘"“m UJ‘-"M ng M tﬂ w-n’/

el

o
o bt g ok
Gr e S dota ¢
L;Jﬁt -




EEC 180A (Prot. v.G. Oklobdzija) Quiz -1 Spring 2000

h@ur Name;

N

Problem #1:

Write decimal number 38 in:’
@binaey: (7 /)]
(b.) hexadecimal: 7 é
(c.)octal: 4 Vi

Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and .&n at both end of the stairs:

I}( L e Lls

iy

Problem #3:

When is the light ON in the cireuit shown ? Note when a=1 (closéd) =0 (open),

b
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EEC 180A (prot. V.G, OKlobdzija) Quiz -1 Spring 2000
[\Qur Name: ]
Problem #1:

Write decimal number 38 in;
(a)binary: 1pofip 2
.) hexadecimal:
{b.) hexadecim Ag“

(c.) octal;

45,
Problem #2:

Given are the hght bulb, two double-throw switches and power source,
Finish the wiring so that you can turn the light off and \(.),l‘l at both end of the stairs:

Wy o

!7( L e/

térl

Problem #3;

When is the light ON in the circuit shown 7 Note when a=| (closed) 2=0 {open).

a oo

"

ar=\ a/‘ﬂ( b‘\

ool A wed €21

Ltaﬁi'




EEC 180A (Prot. v.G. OKlobdzia) Quiz -1 Spring 2000
\Your Name: . .~ l
Problem #1:

Write decimal number 38 in:

(a.) binary: Tellle

(b.) hexadecimal: oG

(¢.) octal: Lf' (;.
Problem #2:

Given are the light bulb, two double-throw switches and power source.
Finish the wiring so that you can turn the light off and Gn at both end of the stairs:
W

L=
@—‘R
L.\ahk ac o ~.
l_y-(__tc—c%/

rry

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) =0 (open).
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EEC 180A (?rot. v.G. Oklobdzija) Quiz -1 Spring 2000
‘lx'j, fm IXOUI' Name:_iw _.lﬂ'f-.’; .':: . ,A\c‘_“ Loy —I
(SN
'% 16 Problem #1; 7938 9
ExX=
b Write decimal number }8 "'" "Ef; 2 1‘\‘@; 1) - (‘3
Y N ! .' 8Ly Dl a
. @pinry: (1 50 [10 ] T 2 T e
] ~ (b.Yhexadecimal: ' ° z
2 2% L2y * 26
“/Nﬂ:':- {c.) octal: %
.5 n v 1
j OD/’ " Problem #2:

Given are the hght bulb, two double—throw switches and power source,
Finish the wiring so that you can tum the light oﬂ‘ and \o,n at both end of the siairs:

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) ‘;=0 (open).

a

b
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EEC 180A (Prof. v.G. Oklobdzija) Quiz -1 Spring 2000 -

IY;our Name: - _ ]

Problem #1:
Write decimal number 38 in:
a- bF ouw oz
(@}binary: 1 e o v | O
(b.)hexadecimal: 2 &

(c.) octal: &4

Problem #2:

Given arc the light bulb, two double-throw switches and power source. )

Finish the wiring so that you can tum the light off and \cin at both end of the stairs:
\\o

1'/ ’ uahk / ac .—\:;—O-‘

Yy

Problem #3:

When is the light ON in the circuit shown ? Note when a=1 (closed) 2=0 {open).

b
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EEC 180A (prof. v.G. Oklobdztja) Quiz -1 Spring 2000

[Your Name: ' ]

Problem #1:
" Write decimal number 38 in:
@)binary: 03 x W0
(b.) hexadecimal:

(c.) octal:

Problem #2:

Given are the hght bulb, two double-throw switches and power source.
Finish the wiring so that you can tum the light off and \cin at both end of the stairs:

/ Gyl ey =8

b{ly( Le Lés
Ly

Problem #3:

When is the light ON in the circuit shown 7 Note when a=1 (closed) 2=0 {open).
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